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: This Paper contains Fifty (50) multiple choice questions, each question

Note
— ;*T‘*I;;:E%;_HWG (2) marks. Attempt All questions.
: P T (50) TgFE T e s W e 9 (2) T e
Wl e wrE
1! I{fnldc;rstanding level of teaching | 1. eHTgAT=Al STheld L (G L (i
includes .... - i
() Memory (i) =
i
(i) Aptitude i) i
(tiz) Insight (ifi) HHGE!
(iv) Creativity (iv) FeAgier

(A) (i) and (if)
(B) (ii) and (iii)
(C) (i) and (iii)
(D) (ii) and (iv)

The most intellectually fertile period
of a human being i8 .....cccevveeeisnenn. -

(A) Childhood
(B) Adolescence
(C) Adulthood

(D) Old age
‘Online Discussion Forum’ of
SWAYAM is for ..coociicsnienrnnens i

(A) Clearing the doubts
(B) Self-assessment
(C) Watching video lectures

(D) Downloading reading material

(A) (i) =i (i)
(B) (i) =0 (iii)
(C) () = (iii)
(D) (ii) 30 (iv)

(D) 95

(A) YIRTEHYT HTTAEE

(B) -

(C) f=2ish we TRTEE

(D) TEAEIEE SEAee HIUIHEE

3.

[P.T.0.
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4, History cannot be taught by
using

(A) Digita] charts

(B) Maps

(C) Demunstratinn method
(D) Role Play method

5. Absolute and relative grading are
types r.-f grading.

(A) Indirect
(B) Direct

y (C) Special
’ (D) § tandard

Most essentig] Quality for ,
Tesearcher ig

(A) Punctuah‘t}r

(B) Intelligence

(C) Genuine interest in research
(D) Mastery over own subject

fé Recording of reflective noteg’ in
qualitative research is called

(A) Coding
(B) Memoing
(C) Decoding
(D) Instructing

SEP - ﬂﬂlﬂlﬂ-A

mw ......................... ﬂﬁw

(A) '\':“%rﬁﬁw {Cﬂding}
(B) feqo sHrem; (Memoing)

(C) T:Hi ity (Decoding)

(D) ¥ Foy (Instructing)
—




10.

awtlbe o T }

A variable ‘Academic Achievement’

Will be measured on .........cooersunne
(A) Nominal

(B) Interval

. (C¥ Ratio
(D) Ordinal

If a frequency distribution has some
extreme scores then appropriate

measure of central tendency

(D) Range

A research paper is based

s ctiadn Nl .
(i) Primary data
(ii)) Secondary data
(iii) Descriptive data
(A) Only (@)

(B) Only (&)

(C) (i) and (i2)

(D) (i) and (i)
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CRIC I Sl
(A) THi=A
(B) T

(C) iR

(D) FAFA

9. R SHafE Ao wE S wEE

e W FEE WgEE dra wfiEmm

(A) HEIHE
(B) HeTH

(C) ¥ge=
{D) =R

10. HYMHA ¥@ (Research paper)
T ARE SAEa.

(i) wufes wifed (data)
(i) TR wfed

(iii) aAviewen et

(A) FF@ (i)

(B) Haa (ii)

(C) () =nfor (i)

rrrrrrrrrrrr

(D) (i) I (i)

P.T.0.



Directions :
Answer Question Nos: 11 to 16
based on either the English
passage or the Mar athi passage *
An earthquake comes like a thief in
the night, without warning. It was
necessary, therefore to invent
instruments that neither slumbered
nor slept. Some devices were quite
simple. One, for instance, consisted
of rods of various lengths and
thicknesses which would stand up on
end like ninepins. When a shock
came it shook the rigid table upon
which these stood. If it were gentle,
only the more unstable rods fell. If
it were severe, they all fell. Thus,
the rods by falling and by the
direction in which they fell, recorded
for the slumbering scientist, the
strength of a shock that was too weak
to waken him and the direction from
which it came. But, instruments far
more delicate than that were needed
if any really serious advance was to

be made.




The ideal to be aimed at wag to
devise an instrument that could
record with a pen on Paper the
movements, of the ground or of the
table, as the quake passed by. While
I write my pen moves I:;ut the paper
keeps still. With Practice, no doubt,
I could, in time, learn to write by
holding the pen still while the paper
moved. That sounds a silly
suggestion, but that was precisely
the idea adopted in some of the early
instruments {5eismﬂmetérs,‘l for
recording earthquake waves. But
when table, penholder and paper are
all moving how is it possible to write
IegiBly ? The key to a solution of that

problem lay in an everyday
observation. Why does a person
standing in a bus or train tend to
fall when a sudden start is made ?
It is because his feet move on, but

his head stays still.

= |



11, This Passage sayg that early

lI'.ISti"llrI]E‘nT.E for ml_‘nsuring earth-
qQuakes werg TS |

(A) F'au!t_y in
(B)

design
Expensi\re
(C) Not Sensitive enough

(D) -Not sturdy

12. ‘The authop says that it was

Recessary tq Invent instruments

to observe gap earthquake
because ......... ..
(A) We have to prove that we are

technically sound

(B) An earthquake comes a]] of a
sudden like 5 thief

(C) It will allow us to show our
expertise

(D) We have to keep ourselyves busy

13. The earlier device consisting of
rods was replaced because it
fafled: om0 ;

* (A) To measure a severe earthquake

+ (B) To record the direction of the
earthquake

(C) To measure a gentle earthquake

(D) To record the movements with
a pen on paper

11.

12
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w7
(A) =HERITCR
(B) qraifss: A

(C) wEwHETEdad
(D) ST

Tifrre T2 TEH AHE S e
Sitert ST STaa; R0 = AR
FeHte TEESiel Wede 2.

(A) Fyvi faum s lEw

(B) wof faum 5

(C) ﬁfﬁaﬁm,ﬁuﬁw

D) gatd 5=, swad =i




SEP - 00121/1—4

14. The everyday observation mentioned
in the passage is related to ... % RIS S o ey 7
(A) The tendency of a standin y o :
g (A) H&Fdraasiy
person to fall when a bug or
train moves suddenly (B) e s
(B) The movement of a bus or train
(C) The passengers standing in a 0
bus or train
| (D) Tferfes uvia
(D) The sudden start of a train
15. According to the passage, the | 15. W&Id A4 UM ¥ius Afas gads
meaning of the word ‘slumber’ X 2
1 e ]
| (A) areHg enfor e
(A) Shock S
(B) argwd 3T Tl
(B) Sleep
(C) argwg anfur sfdes
(C) Ground
(D) FETE A TR
(D) Suggestion -
: L nssinansnane
6. According to Newcomb .......cccocueueeuee: 16. mﬁaﬁﬂﬂﬁ, i
is not so much important in T R W T
communication cycle. (A) U9®
(A) Sender (B) TEF
(B) Receiever
(C) WA
(C) Media
(D) W<
(D) Message
— 9 P.T.0.



What is one of the following most
important factors to become
communication effective ?

(A) Media

(B) Message

(C) Sender

(D) Immediate feedback

17.

18. Supervisor in factory orders workers
and workers follows the order. This
cesennenes LYPE Of communication.

(A) Vertical
(B) Horizontal
(C) Non-formal
(D) Distance

19. Unattentiveness of receiver may
T B R e

(A) Sender

(B) Message

(C) Media

(D) Effectiveness of communication

20. Programmes on the T.V. channels
sometimes misleads society

BOCANISO ,o0vivsissssnpsssnsinnss s
(A) Audiences are in large numbers

18.

18,

20.
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17, womw gt §roammst arefteiEt S

wew wafa wewgl swE 2

(A) =g

(B) w2 |
(C) ¥ws L,
(D) =fd wey

FREFRE HagsT FmOT S
Hell F o FIT W ¥ oatew

-------- T s |

(A) ¥rea
(B) #fe=i
(C) =it |

(D) T4

(B) Audiences are illiterate (B) & fR&R 3rmm

(C) Audience: group is heterogeneous (C) S w9 e o

D) Diﬁ;grezzﬁlsenderandreceivers D) S S e
= 10
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22.
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Consider a road map of a city having | 21, & vretrea W= FhRM fa=md =0

5 approach roads from other places,
10 junctions and no internal road
has a dead-end. Every junction
except one is associated with 4 roads.
1f n number of roads are associated
with the remaining junction then
which of the following values is
impossible for n 7

(A) 3
(B) 5
(C) 6
D) 7

An honest person somehow
guaranteed to two different persons
X and Y individually to handover
complete amount available in his
unique purse. In which way/
situation he will fulfill his assurance
given to X and Y at one and the same

time ?
(A) If there is no money in his purse

(B) By paying each one of them half
of the money available in the

purse
(C) By paying nothing to anyone of
them '

(D) In the purse the number of
notes/coins of same amount 18

22.

even

Y v YT e AT FL fSRTId

3 #a F VAF S =91 T e
w7 zEed HE o T e arEde W™
arfetE FoE o A fEEa S
BN . i
(A) 3
(B) 5

(C) 6

ADYT

o YO SR 99 Al S
ﬁiﬂmmﬁlﬁuﬁmmﬂ
0 HIE B, BV TEAAT Bl
F@ S o e =1 W T

b1 T

©) e e T R

m)ﬁwﬁq@wﬁqﬁmﬁm
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23,

Inlrl'll‘riiutu_*l}' after 12 o'clock at what
time duration both the minute hand
and the hour hand of a wateh
EXactly overlap ?

(A) One hour

(B) One hour five minutes

‘- s

(C) After 1 hour five minutes and
before one hour six minutes

(D) After one hour six minutes

24. As the Price of a book is reduced by
?G%, then its consumption is
Ncreased by 259 How much
Percentage difference is there in the
Previous income ?

(A) 10
(B) 20
(C) 25
(D) 0

25. The percentage profit earned by
selling an item for Rs. 2120 is same
as the percentage loss incurred by
selling the same item for Rs. 1480.
At what price should the item be

sold to get 20% profit ?

24,

25.
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23. = AT R e SEseE

I w2 g fafte w5 ey 26 7

(A) UF TH

(B) wF @E g fafe

(C) T 79 e fafeHm 9 w @,
el fafreiamim

(D) % 99 wa fafeHa

U Qe fRnd e 20 3 w5

Eﬁmmmzﬁ%ﬁm.mgﬂw
T w2 fF v gmen 2

(A) 10
(B} 20
(C) 25
(D) O

UH 95 2120 % 3 Tosresm o=y
FRE] TH 3 @ 9 1480 % % fawem
AR YIS e SREE oEe, T
% fodt feade fasemg 20% @

EECI

@A) 2160
(A) 2160
(B) 2200 (B) 2200
(C) 2050 (C) 2050
D) 1900 £ 00

12






M 28.

29.

By drinking Bornvita with water
gives energy, by drinking Complan
with water gives energy, by drinking
milk with water gives energy-
Therefore, by drinking water one
gets energy. This is an example

| A I
(A) Invariable relation

(B) Fallacy
(C) Perception
(D) Comparison
Which of the following is/are the
valid conclusion/s based on the
statements given below ?
Statement I : All birds are white.
Statement II : All parrots are birds.
Conclusion 1 : Some birds are
white.
Conclusion 2 : Some parrofs are
white.
Conclusion 3 : All parrots are
green.
Conclusion 4 : Some birds are not
white.
Codes :
(A) 1 and 2 only
(B) 1 and 3 only
(C) 2 and 3 only
(D) 3 and 4 only

29.

SEP - 00121/I—A

08, drifez wEETER fream vl 49

FHere ToarEeR faear v Ad. 3
fear YRR 39 T I | AR 7

(A) AT

(B) &9

(C) weaed FH

(D) I99H

el fasme SER qEEIR HUH
frspd Sfaa smed ?

faur 1 : U9 U&l W@l FRd
fagr 1 : wd dve sl eed
frowd 1 : FE vell W M
P 2 @ W WGE W@ e
frewd 3 : wd de fed s
fread 4 : F@ Wt wR @A
e :

(A) 1 anfor 2 F

(B) 1 =nfor 3
(C) 2 amfo 3 wa

(D) 3 a7 4 ag -







B ¥}
v Jogw Fa 4

v
Fa s =0 s

A\

N T »

AR

L

Question numbers Blgnd 32 |

are based on the following

diagram :

The following is a diagram of a

Directions @



31. In which year is the percentage of

passing of students maximum ?
(A) 2012
(B) 2013
(C) 2014
(D) 2015

32. The percentage of passing of
students in examination for all the

years 2012 to 2015 combined
together i8 ...cvieieinaene. ;

(A) 50
(B) 57.14
(C) 60
(D) 70

33. Arithmetic mean of 12 observations
is 40. The smallest and the largest
observations are 20 and 60
respectively. If we ignore the smallest
and the largest observations then the

arithmetic‘mean of the remaining

obServations ........ussensasss «
(A) will increase

(B) will decrease

(C) will not changé

(D) cannot be obtained due to

insufficient data

31.

32.
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FHIren quiaed 3wt Ao fraieats

(A) 2012
(B) 2013
(C) 2014
(D) 2015

2012 § 2015 91 §d FHiHE! THAR
e

(A) 50
(B) 57.14
(C) 60

(D) 70

93 192 Triem fvE T 40 . FFEH

anfin wore FriED SEFd 20 S

17

Frfter FTazel T e RS T

S

(A) =

(B) W@

(C) TREM &

(D) A HEIHES e O A
P.T.O.
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‘Sarathi’ is the web portal o ] 39. 'W’fﬂ' %

(A) Ministry of Civil Aviation

(B) Ministry of Women and Child

Development fahT A
! (@) wigen st T
(C) Ministry of Road Trans -qu:mi
port and T
Highways e =

(D) Ministry of Rural Development

‘BYOD’ in the content of digital | 40 qEEd Sea fpagor A fefsred

initiatives in higher education in

..................

India iS ..ccoveremmsseneess =

(A) Be Youthful On Digital

(B) Buy Your Own Device

(C) Bring Your Own Device- (C) fam g2 aF fe=rEd

(D) & FIETH a3t fefoes
41. umamEd E.coli B =y T L

(D) Be Yourself On Digital

~ Presence of E.coli in water is an
indicator of ... o Sl Gl R e goa Ty EYE
3%
(A) Sewage
(A) WA
(B) 0il (B) ¥
(C) Pesticide : f (C) SR
(D) Herbicide: (D) TOTTRTRI
______,_._._._.----I_....--— il
20
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42. Durin
E day time, noise pollution 42, T LS feam S
. SEH S s

In reg;
ide 1
Ntial area should not
EXceeqd

(A) 75 4B
(B)M65 4B
(C) 65 aB
D) 80 dB

(13)

(43) To

e regulate and control the
transboundary movement of
hazardoug Waste is also known

BE
(A) Basel convention
(B) CITES
(C) Ramsar convention
(D) Wetland convention
44. There are number of Acts in India
to prevent and control of pollution.
One of the following Act is known
as ‘Comprehensive/Umbrella Act’ ?
(A) Air Pollution Act
(B) Water Pollution Act

(C) Environment (Protection) Act

ST ST TH qerergmm) 2 .
(A) 76 dB
(B) 55 dB
(C) 65 dB

(D) 80 dB

43. = F9U AR T=as fam o

(A) w87 uftwg
(B) CITES

(C) THR uftee
(D) Jeeie uftsg

sieEa .
(A) T I FER
(B) S TG F
(C) Tt (TE) R
(D) VEEER! ]

(D) Liability Act

44, YREAHE WEEY S S
FATAHIG STHEA HTEe Hied, Tl Feret
FIE ‘AESTH THSA FEL WM

P.T.0.
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4. gy
k Owy - )
many goals have been set for
SUstajin,
Mable development by UN to
achigve .. . .
€ social and economical

dew:!upn::—:ul' g

(A) 20
By 17
(C) 19

ﬁ}l]ﬂwing universities
centre of military education
Vedic period ?

(A) Takshash ila
(B) Nalanda

was the

dun'ng

(C) Gunsheela
(D) Kundinpur

47. ‘Minimum period for Ph.D should be
of two years and there should be
viva-voce examination for Ph.D

degree’. This recommendation was

made By iiseineins

(A) Indian University Commission
(B) Sadler Commission

(C) Radhakrishnan Commission

II"

kil

46.

47,
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e @ adE fashraTEEl LS 4
2110 S

(A) 20

(B) 17

() 10

(D) 16

wreftetEt Fo fagarits, dfw
FEESE, AR e s 2 2
(A) weEiten

(B) =T

(C) Torsiten

(D) HfsAq

i -2t. vedE e et e

U SR ¥ WEuEiET diEl T .
FeAl Bl

(A) WA faarde
(B) Hsw

(C) THHTH
(D) ISR

- . Commission






